Ratiq

<op/p. > (%)

Ratio

<3 @> (rad)
o
=
[¢)]

o
[N

o
N

...............

..........................

S AN RN R AR

-2

-1

0 1 2 3
TP n (PCA to beamline)

< d cot(B) >

.......................

Ratio

W T

-1

0 1 2 3
TP n (PCA to beamline)

—=— DQM_TT__CKF_ORIG
—e— DQM_TT__CKFandPLess_ORIG
—— DQM_TT__CKFandPLess_MODIF

-2

-1

0 1 2 3
TP n (PCA to beamline)

.......

..........

0.9

|
N
(oS R R I LR RN R RNl RR R RRRRN LR AR R AR RARRN LRRL

0.g!

-2

-1

o 1 2 3
TP n (PCA to beamline)

L. : I {1
: g ;
" " 4
[ 11 LY i
" 4
f ;

Ratiq

0.95

-1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


